Mesure d'un Rectangle (G)

Calculez les mesures manquantes pour chaque rectangle.
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Mesure d'un Rectangle (G) Réponses

Calculez les mesures manquantes pour chaque rectangle.

| 2. [
. 3
< .
o =)
S =
! &
F i* ----36dam ------ !
P = 126 dam i
A = 972 dam? f1--"24pm----
P=112 nm
A = 768 nm?
| 4. [
| g
- g
;: %
- ‘
| c i ********** 78 nm -----------
i P =234 nm
[7 46yd-— A = 3042 nm?
P = 276 yd
A = 4232 yd?
: 6. |
3 |
F1----- 48 cm ------- :g
P=144 cm 3
A = 1152 cm® |
F i ***** 60dm -------
P =240 dm
A = 3600 dm?

MathsLibres.com




